METMIERE I —hHREFEOREREFLMERR

SHIBEE (3%) SHAEE (3%) SHISERE SHGERE
o e R HE RERA  ERRR|  RREHE
B2 (12AKREEATORA) | (%1) B1Z
FHEINK = (%) 105.4 101.5 100.0 100.2| O 100.2
EEINE i (%) 92.2 92.0 97.9 976 X 99.5
i ABRENEEH (AN) 38,802 39,882 47,819 44103| X —
HEEREEH (N) 205,721 215,900 230,850 217,614 X —
A ABRENEBEEH (A) 81,992 81,415 86,592 85,950 X —
PEIERBEHK ON) 8,113 9,484 10,980 9,595 X —
B 7 RBEAREER ON) 1,283 3,761 6,588 6,237| X 6,351
FAREE S ON) 11,217 11,248 14,100 12,980 X 14,180
Izt ES (%) 74.5 76.3 85.8 829 X 86.5
Ti97ERR B 3 (8) 10.5 11 10.0 105 X 10
BERSENELINSEE (%) 58.4 56.9 55.0 521 O —
P2 S R SRR A R (%) 27.6 28.4 27.6 29.3| X —
ERENEEINE LR (%) 9.2 8.8 8.7 81 O —
BEREE MHENELRIELE (%) 86.0 85.3 82.6 814 O —
B (%) 70.4 70.7 75.0 739 X 73.0
AR R (%) 107.0 109.8 105.0 109.3] O 111.0

® FAFENESE

X1 OISV DEEEEEMLTLNSIEE

RENIZER=RFNRE-ZEEERA X100
BERSEMERNELE=HEREE -EXINE X100 MHEMNERINSLE=MHE-EXINE X100
RAERNERRELR=RFE-EFXRE X100

EXRXtER=EXNHE-EXEMA X100

ARBRBR=FEAREEYR - EEHBKRHE X 100




